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0pema NMudparopa

—— KBaapaTt runoreHy3bl
= paBeH CYMMe KBajpaToB KaTeToB



NPSAIMOYroJibHbIN
TPeyrosibHMK







BbIiNno/IHUM
AdononHurteno
Hble
NOCTpPOEHMUA







JTO KBaapaT
(AoKkaXxnuTe CaMOCTOSAITEJIbHO)

Ero nnowaab paBHa
(a + b)?




3TO TOXKe
KBagpart

(AokaXkute CaMOCTONATE/IbHO)

Ero nnouwaab paBHa
C2



! Nnowaab 3TOro

TpeyrosibHUKa
12 ab




b 60/1bLLIOrO KBagpaTa paBHa CyMMe nJiowagen

MasieHb ara...

en YeTblpex
TPEeYrosibHNKOB.

(a+b)?=c?+4*1/2ab
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oTcroaa
a’+2ab+b?%=c?+2ab
a2+b2=c?
)



